Chapter 3 Review Name: 'E‘A/\ Period:

I. Analyze the figure shown,

Determine the perimeter of the composite figure. Round to the nearest tenth.

(p&’ OZ Ur\i“'S

h. Determine the area of the composite figure. Round to the nearest tenth.

I'b(o Un{h'z'

2. A square on the coordinate plane has opposite vertices at (0. 0) and (6. 6). What would lhcjzu'c:fol'll'uc square be if

. . «

cach side length were decreased by a factor of = ? —

i y a fz 57 = 5
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4. O square units b a,,b)
9 square units == S,
¢. 12 square units i \
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3. Analyze triangle \YZ

= "“—'2*'5 0{: ‘.“’"D “20-10 Jo 10 :aa:x W"
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o= \]_:1_775" =

a.  Determine the perimeter of triangle X'YZ.
[07.95 vaits
b. Lxplain why triangle XYZ is a right triangle.

A slopes o Side ,Cﬂg*}"\s worle 1A AZ¥bL2Z2 =2
————

e

¢.  Determine the area of triangle X'YZ.

H28. 08 vate?

4. What happens to lhclpcrimcter}ol‘a regular hexagon with side lengths of 5 units when each side length is
increased by a factor ol 47 :

Pecimerer inceense b\, Focto - o€ L’

5. What happens to lhclarea l)fa triangle with base 10 units and height 9 units when its dimensions are decrease
by 3 units,

2 | ; - (9 7)_ 2_'
e pexosbi Aeea devensedd by 24 units jg —(—?_ 2
VO -3

6. A trapezoid has bases 12m and 8m and an area of 384m’.  Find its height.
A=z (brb)\
=J
384 - 2((2-+ 8) h
38 = 5 20)‘1
3d4=]0hL
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7. Which statement is nof true about this polygon?
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a.  The polygon has a perimeter of 88 units. «~

b. The polygon has an area of 384 square units. v~

¢. The polygon has 2 pairs of congruent angles. v~
@'l‘hc polygon has 4 congruent sides. Yy

8. Joel knows that the formulas to determine the areas of rectangles and non-rectangular parallelograms are the
same. He multiplies the lengths of WX and #Z to determine the area of parallelogram IWXYZ.
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a. Has Joel correctly determined the area of the parallelogram? Explain your reasoning.
‘ . . NO. The heighs is ot W
b. Calculate the area of parallelogram IWXYZ. Show your work.
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Determine its perimeter.  Round your answer to the nearest hundredth, il necessary.
9. triangle JKL S .
g L J k L
16 d:\"'._,:;; a(':‘_lZ-lZ 0('-‘-@
12 A= 14.14 Ad= I14.56 Az 5 6L

L 16- 12 | i
b 7 4-40L'</& T p-'-— 3"{-%(9
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10.  Given the parallelogram, find the value of x. X= L|

sobh  A'=bR
A=%D  24=X (L)

A=24 24 _ x
d -

x=4

2 2 = Cz 5(1:. (p-?(ﬂ
X o “ ;:z.‘:-‘gﬂ. i th'z “
b A= X B ._I‘j
" 22X = L6 =
a X=18.38

For #12-16, find the area and Perimeter. Round to the nearest hundredth if necessary.

P= &b. 25
Eb'; A':.'. 210

qi-13 = 1%
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22> p_ g4.87 P= us. 34
\1;\5|/\/ o L k= 12705
A= 15—

Area 31‘; Perimeter 3 3 . 879

15.
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